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Multiplication (Vertical) Name:
Solve each problem. Answers
1) 46 2) 97 3) 27 4) il
x 22 x 6l x 89 x 97 .
z
3.
4,
5) 40 6) 94 7) 14 8) 26
X 62 x 14 X 16 X 48 5.
6.
7.
8.
9 16 10) 46 11) 63 12) 59
X 75 x 26 X 42 X 91 9.
10.
1.
12.
13) 42 14) 19 15) 61 16) 12
X 39 X 73 X 52 X 25 3.
14.
15.
17) 95 18) g1 19) 75 20) 43 s
X 23 X 44 X 26 X 95 7.
18.
19.
20.
1-10 [95]90[85(80[75[70]65]60]55] 50
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1)

9)

13)

17)

Multiplication (Vertical) Name: Answer Key
Solve each problem. Answers
46 2) 97 3) 47 4) 27
x 22 x 6l x 89 x 97 L 1012
92 97 243 189 5017
+920 +5,820 +2,160 +2,430
1,012 5,917 2,403 2,619 . 2403
4 2,619
40 6) 94 14 8) 26
x 62 x 14 x 16 x 48 s. 2480
3 208
80 76 84 1316
+2,400 + 940 + 140 +1,040
2.480 1,316 224 1,248 . 224
g 1,248
16 100 46 11) 63 12) 59
x 75 x 26 x 42 x 91 9. 1,200
80 276 126 59 {706
+1,120 +920 +2,520 +5,310 10. ’
1,200 1,196 2,646 5,369 L2646
2. 5,369
42 14) 19 15) 61 16 12
x 39 x 73 x 52 x 25 3. 1,638
378 57 122 60
+1,260 +1,330 +3,050 +240 4. 1,387
3
1,638 1,387 3,172 00 . 3Im
6. 300
95 18) 81 19) 75 20) 43
x 23 X 44 x 26 x 95 7 2,185
285 324 450 215
+1,900 +3,240 +1,500 +3,870 8. 3,964
2,185 3,564 1,950 4,085
9. 1,950
0. 4,085
1-10 |95]90|85|80|75]70|65]|60|55]50
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Vertical Division with a Helper Grid

Name:

Solve each problem.
1)

D [T T
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2)

8 13 7 7
L]
. 1‘

5)

615/1]0

8)
518613

9)

Answers

1-9 [89]78]67

56(44(33[22[11] 0|
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Vertical Division with a Helper Grid Name: Answer Key
Solve each problem. Answers
D [ofa]2 2 |ofa]7]r 3 [ols]i]4
s[2710 377 7]3]3] . 42
Jo| | ol | | o | |
. — , 470
21| | 3|7 713
- i == = = | L (TR B
4210 {32 712 3 8ir 4
4200 B | 3.
1|0 5(7 13
- o 27
| - 110 -156 -9
!L 1|0 l 4 5 85
6. 23r 4
49  |ol2]7] 5 |ols]s 6 [0]2]3]r4 % o
4 1|19
- 0 -0 0
2|4 5101 1|1 ° 87
- 11]8 - 48 110
63 300 1|9
-l6]3 -131]0 -5
0 0 4
D 163 8) 1]7]2]3 9) 0[8]7
518 8|6 696
-5 5 0
301 306 69
300 1315 6|4
{5 113 506
-1115 -1 110 -1516
| 0 3 0
- —]
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